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o) 3x*-2x* <xf(x)<3x*+2x*
‘Eoto x> 0.

Awarpovpe v oxéon 3x” —2x* < xf (x) <3x* +2x* pe X ko éxovpe

3x2—2x4<)(/f(X)<3x2+2x4:>)((3X—2X3)<f(x)<)((3x+2xs)
x X T x X N - X

= 3x—2x° <f(x)<3x+2x°

=

Onote

3x—2x° <f(x)<3x+2x° , ya ke x >0
KpLTipLo mopeprorng -
= limf(x)=0| (2)

x—0"

lim (3x—2x3) = lim (3x +2x3) =0

x—0" x—0"

Ouoinc av X < 0.

Awarpovpe v oxéon 3x” —2x* < xf (x) <3x% +2x* pe X ko éxovpe

oot XE(x) e eaxt | X(x-2¢) L X(3x+2x)

x CA T x X efE——r—=

= 3x—2x° 2 f (x) 2 3x +2x°

Ondte

3x—2x°2f(x)23x+2x* , yo k6be x <0 ,
KprInpro TopepBoAng

= limf(x)=0[ (2)
lim (3x —2x°) = lim (3x +2x°) =0 x>0

x—0" x—0"

f:ovvexngotox,=0
=lim f(x)=f(0)
x—>0

2),03)=> leirgf(x)zo = f(0)=0
B) Awpodpe T oyéon 3x* —2x* < xf (X) <3x% +2x* pe x* >0 ko éyovpe

x*-2xt _ XF(x) _3x* +2x¢ _ X (3-2x2) L) X (3+2x2)

<
x? x2 T X X x X

=

f((J:):OS—ZXZSL_];(O)§3+2x2
Onote
f(x)—F(0)
3_2)(2 S—S3+2X2 KpUTp1o TopepBOoAT] —
X—0 prilp :>pu nelingf(x)z 2(0):3:> f'(0)=3

Iim(3—2x2)= Iim(3+2x2)=3

x—0 Xx—0



